

			Tabulation of Bids				Page 1 of 4	
Cont	tract ID: 20434			Counties:	ATLANTIC, BUF CUMBERLAND,	,	,	AY,
Lettin	ng Date: January	09, 2020		District(s):	S4			
Cal	l Order: 434			Project(s):	100% State			
Contrac	ct Time: 02/28/2 ²	1 COMPLETION DA	ATE	Min:	Max:			
Contra	ct Description:	MTN STORMWATE	ER FAC RES, SC	OUTH - 2020				
Line No / Item Des			(1) MOUNT CO CO.,		(2) IEW CON GROUI			ONSTRUCTION , INC.
Alt Set / /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	1.00000	1.00	0.01000	0.01	40,000.00000	40,000.00
PERFORMA PAYMENT I	ANCE BOND AND BOND	DOLL						
0002	152015P	1.000	1.00000	1.00	0.01000	0.01	12,300.00000	12,300.00
POLLUTION	N LIABILITY INSUR	ANCE DOLL						
0003	MMG010M	1,500.000	1.00000	1,500.00	1.00000	1,500.00	1.00000	1,500.00
TELEPHON	IE SERVICE	DOLL						
0004	MMB172M	5,000.000	0.01000	50.00	0.01000	50.00	16.00000	80,000.00
LANE CLOS	SURES	HOUR						
0005	MMG068M	50,000.000	1.00000	50,000.00	1.00000	50,000.00	1.00000	50,000.00
SOLID WAS DISPOSAL	STE AND RECYCLA	ABLE DOLL						

2/21/2020



		Tabulation of Bids				Page 2 of 4	
Contract ID: 20434	Counties: ATLANTIC, BURLINGTON, CAM CUMBERLAND, GLOUCESTER			,	AY,		
Letting Date: Januar	y 09, 2020		District(s):	S4			
Call Order: 434			Project(s):	100% State			
Contract Time: 02/28/2	21 COMPLETION DA	TE Min: Max:					
Contract Description:	MTN STORMWAT	ER FAC RES, SO	OUTH - 2020				
Line No / Item ID Item Description		(1) MOUNT CONSTRUCTION CO., INC.		(2) IEW CONSTRUCTION GROUP, INC.		(3) MATHIS CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0006 202024M	100.000	95.00000	9,500.00	75.00000	7,500.00	75.00000	7,500.00
DISPOSAL OF REGULATED MATERIAL	Т						
0007 MMG064M	75,000.000	1.00000	75,000.00	1.00000	75,000.00	1.00000	75,000.00
DISPOSAL OF REGULATED MATERIAL, HAZARDOUS	DOLL						
0008 109006M	750,000.000	1.00000	750,000.00	1.00000	750,000.00	1.00000	750,000.00
FORCE ACCOUNT	DOLL						
0009 MMB181M	4,000.000	679.00000	2,716,000.00	729.18000	2,916,720.00	980.00000	3,920,000.00
REPAIR CATEGORY "A"	HOUR						
0010 MMB182M	2,000.000	667.00000	1,334,000.00	879.46000	1,758,920.00	1,005.00000	2,010,000.00
REPAIR CATEGORY "B"	HOUR						



Tabulation of Bids Page 3 of 4							
Contract ID: 20434	Counties: ATLANTIC, BURLINGTON, CAM CUMBERLAND, GLOUCESTER						
Letting Date: Janua	ry 09, 2020		District(s):	S4			
Call Order: 434			Project(s):	100% State			
Contract Time: 02/28/	21 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	MTN STORMWATE	ER FAC RES, SO	OUTH - 2020				
Line No / Item ID Item Description		(1) MOUNT CO CO.,		(2) IEW CON GROU			ONSTRUCTION , INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0011 MMB183M	500.000	95.00000	47,500.00	161.00000	80,500.00	161.00000	80,500.00
REPAIR CATEGORY "C"	HOUR						
0012 MMG054M	750.000	98.00000	73,500.00	106.00000	79,500.00	113.00000	84,750.00
WORKER, TYPE "A"	HOUR						
0013 MMG057M	750.000	130.00000	97,500.00	76.53000	57,397.50	99.00000	74,250.00
WORKER, TYPE "B"	HOUR						
0014 MMG025M	75,000.000	1.00000	75,000.00	1.00000	75,000.00	1.00000	75,000.00
OVERTIME DIFFERENTIAL	(OD) DOLL						
Section Totals:			\$5,229,552.00		\$5,852,087.52		\$7,260,800.00
Co	ntract Totals		\$5,229,552.00		\$5,852,087.52		\$7,260,800.00
Cost Plus Time Totals			\$5,229,552.00		\$5,852,087.52		7,260,800.00



		Tabulation of B	ids	Page 4 of 4
Contract ID:	20434	Counties:	ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM	
Letting Date:	January 09, 2020	District(s):	S4	
Call Order:	434	Project(s):	100% State	
Contract Time:	02/28/21 COMPLETION DATE	Min:	Max:	
	ption: MTN STORMWATER FAC RE	ES, SOUTH - 2020		

Contraction of the second	STATE OF NEW JERSEY
	STATE OF NEW JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor Sheila Oliver, Lieutenant Governor
	Phil Murphy, Governor Sheila Oliver, Lieutenant Governor

		Vendor Ranking	Page: 1	
Call Order:	434	Contract ID: 20434	Counties:	ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM
Letting Date:	January 09, 2020 10:00 AM	District(s): S4 Contract Time: 02/28/21 COMPLETION DATE		

Contract Description: MTN STORMWATER FAC RES, SOUTH - 2020

Project(s): 100% State

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	M6816	MOUNT CONSTRUCTION CO., INC.	\$5,229,552.00	100.00%
2	12943	IEW CONSTRUCTION GROUP, INC.	\$5,852,087.52	111.90%
3	M0815	MATHIS CONSTRUCTION CO., INC.	\$7,260,800.00	138.84%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.